


The paper in this book No.373A

is made of 509 high grade rag stock
with a WATER RESISTING surface sizing
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TRIGONOMETRIC FORMULA

: iz B
A4 A c
b o . b c b
Right Triangle L—— Oblique Triangles '———T

Solution of Right Triangles

: : . e b _a _ & e e
For Angle A. sin = S = = -, »sec = 3, cosec =

Given Required T

@b A, B e ) =\/a2+5‘=(1r\,/1+—a—2'
Fe——

. b b=+/(ea)c—a) = fogo @

a o 4, B, B,b=y\/(c+a)ic—a) c\/l by
_a
sin 4.

b

Ba s| B=9°—4,a=>btand,c=—F
cos A.

Aa |B be| B=90°—A4,b=acotd,c=

Boa b B=90°—A,a=csinA,b=ccos 4,
Solution of Oblique Triangles
Required > asin B p

asin O
b o 0 T sin A

= 180°—(A 4 B), ¢ = —
sin A
. p) 2 /’
B¢, ¢ | sinB= bsind o _ y90°(4 + B), o = 22000
i a sin A
(@-b)tan } (4 +B)

a-+ b -

A B c| A+B=180°—C,tan}(A—B)=

g - @® sin B sin O
£ 2 sin A

REDUCTION TG HORIZONTAL

Horizoutal distance = Slope distance multiplied by the
cosine of the vertical angle. Thus: slope distance - 319. 4 ft.
Vert. angle=-5° 10. From Table, Page IX. cos 5° 10/=
.9959. Horizontal distance =319.4<.9958=2318.09 ft.
Horizontal distance also = Slope distance minus slope
distance times (1—cosine of vertical angle). With the
same ﬁg‘ures gs in t&lec prece%éx;%,ex:gns?lf, tggemfollow-

i distai ing resuit is obtained. Cosine =.9959. 1—. =.0041.
Horizontal distance g15°, 0041 — 1,31, 319.4—1.51=918.09 ft.

When the rise is known, the horizontal distance is approximately:—the slope dist- _ ,

ance less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,
slope distance=302.6 ft. Horizontal distance=302.6— 2“-2;-0_% —502.6—0.52—302.28 ft.
X -
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